=
<

(0 @) (rad)

-1 0

1 2

3

TP n (PCA to beamline)

a(d cot(d))

0.95!

w Tr T T [rrrr :
I
N

1 2 3

TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__mkFit1000__ RECO
—— DQM_V0001_R000000001__Global__mkFit100__ RECO

=
5
2
= L
>
x
>
o
2
) L

-1 0

1 2

3

TP n (PCA to beamline)

F : :
2 3 : :
D_'_ 1. T FI. .
o E : :
10—25_...............4; ..........
1073 et
10—45_......,.......,; ..........
_910_51— ------- I'I -------- I
< F : : :
d | : :
0.5+ [ ARERLE R LREEEEE 0
21 0

T2

3

TP n (PCA to beamline)

oo a,) (cm)

z

TP n (PCA to beamline)



	Contents
	Page 1


